This exercise is not intended as a
comprehensive
review of the material.

It is a review...but the main purpose is to
practice
our presentation skills.

Limits Test-14 problems--70 total points

7 limit problems 1 limit proof

1 HA 1 continuity
1 VA 1 remove and redfine
1 IVT

1 limits from a graph
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6. Evaluate: lim
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8. Find the vertical asymptotes (if any) of f(z) =
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9. Find the horizontal asymptotes (if any) of g(z) =
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10. The function f(z) = % is discontinuous at x = 1. Determine if the discontinuity is
A

removable. If removable, redefine f so that it is continuous at x = 1.
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11. Determine where the following function is discontinuous: f(z) ={ 4—2> if —2<z<2 .
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12. Given f(z) = x* — 4% + 4x + 3, use the Intermediate Value Theorem to show that f(x) = 0 for
some X betweenz = —land z = 2.
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